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170000 cm? = | |m?

@17 @ 17 ® 170 @ 0.17 ® 1700

10000 cm? = 1 m?
170000 cm? = 17 m?




o
mlo
ol
glo
Mo
S,
rlo
9
"
sl
1A
i
=

® 24a = 240m? @ 1300a = 1.3ha
@)skm? = 80000a @ 1.6km? = 1600a

® 47m2 =470a
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1km? = 100 ha = 10000 a = 1000000 m? ©] 22
D 24 a = 2400 m?

@ 1300a = 13 ha

@ 1.6km? = 16000 a

®47Tm? =047a
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® 350m? =35a @ 5.6km? = 5600 m?>

® 3700a = 3.7ha @ 17t = 1700 kg
(@)23000000 g =23t
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@ 350m? = 3.5a

@ 5.6km? = 5600000 m?
@ 3700a = 37ha

@ 17t = 17000 kg
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@ 240a =2.4ha
@ 0.2km? = 20ha

® 35000a = 3.5km?

@ 170000m? = 17 a

@ 5.9ha = 59000 m?

@ 170000 m? = 1700 a




@ 0.75km? @ 100 m x 4000 cm
@)s0000a @ 25ha

® 100m x 3000 cm
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T 22 @2 A A By}
@D 0.75km? = 75ha
@ 100m x 4000 cm = 4000 m? = 0.4 ha
@ 80000a = 800 ha
@ 25 ha
® 100 m x 3000 cm = 3000m? = 0.3ha
B>0>0D>20>0
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@® 0.02km? @ 0.2ha (3)2000a

@ 20000 m? ® 2ha
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@D 0.02km? = 2ha

® 2000a = 20 ha

@ 20000 m? = 200a = 2ha
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@ 0.04km? @ 0.4ha ® 400a
(@) 100000 m? ® 4ha
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@D 0.04km? = 4ha

® 400a = 4 ha

@ 400000 m? = 4000a = 40 ha
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D 6400m? = 640a @ 8.4km? = 8400 ha

@290a =29ha @ 24t = 2400kg

® 70000000g = 7t
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@D 6400m? = 64 a

@ 8.4km? = 840 ha

@ 24t = 24000 kg

® 70000000g = 70t
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